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ANNA NAGAR AGNI TEST SERIES 3 

 
1. $w;wpid Muha;f:  
1. %Jiu vd;Dk; nrhy;Yf;F “%j;Njhh; $Wk; mwpTiu vd;W ngah;  
2. ,jd; Mrphpah; Gjpa Mj;jpr;R+b vd;w E}iy vOjpAs;shh;  
3. %Jiu vd;w E}ypy; nkhj;jk; Kg;gj;J%d;W ghly;fs; cs;sd.  
a)$w;W 1> 2> 3 rhp      b)$w;W 1> 2 kl;Lk; rhp  
c)$w;W 1 kl;Lk; rhp     d)$w;W 1> 3 rhp  
 
2. ,lnky;yhk; vd;Dk; nrhy;iyg; gphpj;J vOJf  
a),lk; + nky;yhk;  b),lk; + vy;yhk;  c),l + vy;yhk;  d),l + nky;yhk;  
 
3. vspa jkpopy; r%f rPh;jpUj;jf; fUj;Jfis typAWj;jp ghbath;  
a)Gul;rpf;ftp  b)Njrpaf;ftpQh;  c)ctikf;ftpQh;  d)kf;fs;ftpQh;  
 
4. ehl;bd; newpjtwp ele;J tplhNj – ek;  
ey;yth;fs; J}w;Wk;gb tsh;e;J tplhNj – mbf;Nfhbl;l  
nrhy;ypw;fhd nghUs; ahJ?  
a)Fzk;   b)Kd;Ndw;wk;  c)top    d)mopahky;  
 
5. gpd;tUk; njhlh;fspy; jtwhdij Njh;e;njL?  
a)xU fp.kP J}uj;jpy; Muk;gg;gs;sp mikf;f Ntz;Lk;  
b)%d;W iky; J}uj;jpy; eLepiyg;gs;sp mikf;f Ntz;Lk;  
c)Ie;J iky; J}uj;jpy; cah;epiyg;gs;sp mikf;f Ntz;Lk;  
d)Nkw;fz;l midj;Jk; rhp  
 
6. “fy;tpf; fz; jpwe;jth;” vd;W fhkuhrh; ahuhy; ghuhl;lg; ngw;whh; 
a)mwpQh; mz;zh  b)jpU.tp.f   c),uh[h[p   d)je;ij nghpahh;  
 
7. eLtz; muR fhkuhrUf;F ghujuj;dh tpUJ ve;j Mz;L toq;fg;gl;lJ?  
a)1973   b)1974   c)1975   d)1976 
 
 



 

2 
 

8. re;jpg; gpioaw;w njhliu Njh;e;njL?  
a)gs;spfspy; trjpfisg; ngUf;f gs;sp rPuikg;G khehLfs; elj;jpdhh;  
b)gs;spfspd; trjpfisg; ngUf;f gs;spr; rPuikg;G khehLfs; elj;jpdhh;  
c)gs;spfspd; trjpfis ngUf;f gs;sp rPuikg;G khehLfs; elj;jpdhh;  
d)gs;spfspd; trjpfis ngUf;f gs;spr; rPuikg;G khehLfs; elj;jpdhh;  
 
9. Mrpaf; fz;lj;jpNyNa kpfg;nghpa E}yfk; mike;Js;s ,lk; vq;F cs;sJ?  
a),e;jpah   b)mnkhpf;fh  c),q;fpyhe;J  d)rPdh 
 
10. gpd;tUk; $w;wpid Muha;f:  
1. mz;zh E}w;whz;L E}yfk; nkhj;jk; vl;L mLf;Ffis nfhz;lJ  
2. ,jd; gug;gsT vl;L Vf;fh; MFk;  
3. Mrpaf; fz;lj;jpNyNa ,uz;lhtJ nghpa E}yfk; mz;zh E}w;whz;L E}yfk; MFk;.  
a)$w;W 1> 2> 3 rhp     b)$w;W 1> 3 kl;Lk; rhp  
c)$w;W 2> 3 rhp      d)$w;W 1>2 kl;Lk; rhp  
 
11. mz;zh E}w;whz;L E}yfj;jpy; Nghl;bj; Njh;Tf;Fj; Njitahd midj;J E}y;fSk; 
cs;s jsk; vJ?  
a)%d;whk; jsk;  b)Ie;jhk; jsk;  c)Vohk; jsk;  d)vl;lhk; jsk;  
 
12. Mw;wTk; fw;whh; mwpTilahh; m/Jilahh;  
ehw;wpirAk; nry;yhj ehL - ,g;ghly; ,lk; ngw;Ws;s E}y; vJ?  
a)jpUf;Fws;   b)gonkhopehD}W  c)GwehD}W   d)Mrhuf;Nfhit  
 
13. $w;wpid Muha;f  
1. xypf;Fk; Kaw;rpapy; xw;Wik cs;s vOj;Jfs; kaq;nfhypfs; vdg;gLk;  
2. ty;ypd nka;naOj;Jf;F Kd; mjd; ,dkhfpa nky;ypd nka;naOj;J tUk;  
3. ,ilapd vOj;Jfs; MWk; xNu ,dk; MFk;  
a)$w;W 1> 3 kl;Lk; rhp     b)$w;W 1> 2> 3 rhp  
c)$w;W 3 kl;Lk; rhp     d)$w;W 2> 3 kl;Lk; rhp  
 
14. gpd;tUtdtw;Ws; ,d vOj;Jfs; ,y;yhj xd;iw Njh;e;njL 
a)Ma;j vOj;J  b)nka;vOj;J   c)caph; vOj;J   d)Nkw;fz;l vJTkd;W  
 
15. cyf khzth; jpdkhf nfhz;lhlg;gLtJ ahUila gpwe;jehis vd;W 
Njh;e;njLf;fTk;  
a)fhkuhrh; gpwe;jehs;     b)mGy;fyhk; Mrhj; gpwe;jehs;  
c)tpNtfhde;jh; gpwe;jehs;    d)mg;Jy;fyhk; gpwe;jehs;  
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16. ‘Escalator’ vd;w nrhy;ypd; jkpohf;fk; vd;d?  
a)kpd;J}f;fp   b)efWk; gbf;fl;L  c)kpd; cah;j;jp  d)kpd; E}yfk;  
 
17. xg;GuT Mw;w mwpjy; mwpTilik  
ey;ypdj; jhNuhL el;ly; - vd;w mbfs; ,lk;ngw;w E}ypd; Mrphpah; ahh;?  
a)Mrhuf;Nfhit      b)gonkhopehD}W   
c)ngUthapd; Ks;spahh;     d)%d;Wiu miuadhh;  
 
18. Mrhuf;Nfhit $Wk; vl;L ey;nyhOf;fq;fspd; nghUe;jhJ vJ?  
a)gpwUf;F ed;ik nra;jy;     b),dpa nrhw;fisg; NgRjy;  
c)gpwUf;F cjTjy;     d)fy;tp mwpT ngUjy;  
 
19. $w;wpid Muha;f  
1. Mrhuf;Nfhitapd; Mrphpah; gpwe;j Ch; faj;jhh;  
2. Mrhuf;Nfhit vd;gjw;F ey;y xOf;fq;fspd; njhFg;G vd;gJ nghUs;  
3. ,e;E}y; E}W ntz;ghf;fisf; nfhz;lJ  
a)$w;W 1> 2> 3 rhp     b)$w;W 2> 3 kl;Lk; rhp  
c)$w;W 1> 3 kl;Lk; rhp     d)$w;W 1> 2 kl;Lk; rhp  
 
20. fPo;fz;ltw;Ws; nghUe;jhj xd;iw Njh;e;njL?  
a)nfhk;Gj;Njd;   b)nghe;Jj;Njd;  c)kiyj;Njd;  d)nfhRj;Njd;  
 
21. cjpj;j vd;w nrhy;ypw;Fhpa vjph;r;nrhy; ahJ?  
a)Njhd;wpa   b)epiwe;j    c)Fiwe;j    d)kiwe;j  
 
22. tho;f;iff;F tsk; jUk; kiof;flTis topgLk; Nehf;fpy; nfhz;lhlg;gLk; gz;bif 
vd;d?  
a)nghq;fy;       b)Nghfpg;gz;bif   
c),e;jputpoh      d)b kw;Wk; c ,uz;Lk;  
 
23. $w;wpid Muha;f 
1. mWtilj; jpUehs; Me;jpug;gpuNjrk;> cj;jpug;gpuNjrk;> kj;jpag;gpuNjrk; Mfpa 
khepyq;fspy; kfurq;fuhe;jp vd;W nfhz;lhlg;gLfpwJ 
2. gQ;rhg; khepyj;jpy; Nyhhp vd;gJ nfhz;lhlg;gLfpwJ  
3. F[uhj;> ,uh[];jhd; khepyq;fspy; cj;juhad; vd;W nfhz;lhlg;gLfpwJ  
a)$w;W 1> 2> 3 rhp  b)1> 3 rhp   c)1> 2 rhp   d)2> 3 rhp  
 
24. nghUs; NtWghL mwpf:  
a)tpUk;G> cz;lhf;F     b)cz;lhf;F> tpUk;G  
c)nghUspd; kjpg;G> cz;lhf;F    d)nghUspd; kjpg;G> tpUk;G  
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25. kaq;nfhyp vOj;Jfs; vj;jid cs;sd?  
a)6    b)7    c)8    d)9  
 
26. khky;yGuk; rpw;gf;fiyapy; nghUe;jhjij Njh;e;njL:  
a)fl;Lkhdf;Nfhapy; b)Filtiuf; Nfhtpy; c)Gilg;Gr; rpw;gq;fs; d)RLkz; Rijfs;  
 
27. khky;yd; vd;w rpwg;Gg;ngah; nfhz;l murdpd; ngah;  
a)kNfe;jputh;kd;  b)rpk;kth;kd;  c)eurpk;kth;kd; I  d)eurpk;kth;kd; - II 
 
28. nts;sj;J mida kyh;ePl;lk; khe;jh;jk;  
cs;sj;J midaJ cah;T - ,f;Fwl;gh  
,lk;ngw;Ws;s mjpfhuk; vJ?  
a)tpUe;Njhk;gy;  b)Cf;FKilik  c)fs;shik    d)gadpy nrhy;yhik  
 
29. cs;sj;jhy; ------------ jPNj gpwd;nghUisf;  
fs;sj;jhy; fs;Ntk; vdy;  
a)vz;zYk;   b)kwj;jYk;   c)cs;sYk;   d)Mf;fYk;  
 
30. tpUe;jpdhpd; Kfk; vg;NghJ thLk;?  
a)ek;Kfk; khwpdhy;     b)ek; tPL khwpdhy;  
c)ehk; ed;F tuNtw;why;     d)ek; Kfthp khwpdhy;  
 
31. “Cf;fkJ iftpNly;’ vd;w $w;wpw;F ,izahd Fwl;ghit Njh;e;njL? 
a)tpUe;J Gwj;jjhj; jhZz;ly; rhth  
kUe;jnjdpDk; Ntz;lhw;ghw; md;W  
b)cs;sk; cilik cilik nghUSilik  
epy;yhJ ePq;fp tpLk;  
c)nrhy;Yf nrhy;ypy; gaDila nrhy;yw;f  
nrhy;ypy; gad;,yhr; nrhy;  
d)nts;sj;J mida kyh;ePl;lk; khe;jh;jk;  
cs;sj;J midaJ cah;T  
 
32. cs;StJ vy;yhk; cah;Ts;sy; kw;wJ  
js;spDk; js;shik ePh;j;J  
a)rPh;Nkhid   b)mbNkhid  c)mbvJif   d)a kw;Wk; c rhp  
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33. nghUj;Jf  
A)rkh;   - 1. ngUkfpo;r;rp  
B)fodp  - 2. Nghh; 
C)vf;fspg;G  - 3. tPuk;  
D)kwk;  - 4. tay;  
a)2 3 4 1   b)2 4 3 1   c)2 4 1 3   d)2 3 1 4  
 
34. mQ;rhik kpf;ftd;jhd; MdhYk; rhd;Nwhh;fs;  
mQ;Rtij mQ;rp mfw;wp – vd;w mbfs; ,lk; ngw;Ws;s E}y; vJ?  
a)tha;nkhop ,yf;fpak;     b)gonkhop ehD}W 
c)jpUf;Fws;       d)GjpanjhU tpjp nra;Nthk;  
 
35. “jpuhtpl ehl;bd; thdk;gb” vd;W ghuhl;lg; ngw;wthpd; ,aw;ngah; vd;d?  
a)Jiukhzpf;fk;  b)JiuuhR   c),uhjhfpU\;zd; d)Rg;gpukzpad;  
 
36. nghUj;Jf  
A)fly; - 1. mhpR;Rtb  
B)kzy; - 2. CQ;ry;  
C)Gay; - 3. gQ;Rnkj;ij  
D)kpd;dy; - 4. gs;sp  
a)3 4 2 1    b)4 3 1 2   c)2 3 4 1   d)4 3 2 1  
 
37. ehl;Lg;Gw ,ay; Ma;T vd;w njhFg;G E}ypd; Mrphpah; ahh;?  
a)f. rf;jpNty;  b)r.rf;jpNty;  c)R.rf;jpNty;  d)m.rf;jpNty;  
 
38. fy;nyLj;J vd;w nrhy;iy gphpj;J vOJf  
a)fy; + nyLj;J  b)fy; + yLj;J  c)fy; + vLj;J  d)fy; + mLj;J  
 
39. jkpo;ehl;bd; jiyrpwe;j JiwKfkhf mf;fhyj;jpy; vj;JiwKfk; tpsq;fpaJ?  
a)fhtphpG+k;gl;bdk; b)g+k;Gfhh;   c)nfhw;if   d)a kw;Wk; b rhp  
 
40. ghnyhL te;J $nohL ngaUk; vd;w  
ghly; mbfs; ,lk;ngw;Ws;s E}y; vJ?  
a)mfehD}W – 149     b)ew;wpiz – 183   
c)FWe;njhif – 24     d)Nkw;fz;l vJTkd;W  
 
41. goq;fhyj;jpy; jkpo;ehl;by; ,Ue;J Vw;Wkjp nra;ag;gl;l nghUs;fspy; nghUe;jhJ 
vJ? 
a)kapy;Njhif  b)re;jdk;   c)fw;G+uk;   d),Q;rp  
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42. $w;wpid Muha;f:  
1. ‘eLTepd;w ed;ndQ;rpNdhh;” vd;w $w;W gl;bdg;ghiyapy; ,lk;ngw;Ws;sJ  
2. “thzpfk; Ngzpg;gpwTk; jkNghy; nrapd;” vd;W $w;W jpUf;Fwspy; ,lk;ngw;Ws;sJ  
a)$w;W 1> 2 k; rhp b)$w;W 1k; rhp  c)$w;W 2k; rhp  d)$w;W 1> 2 jtW  
 
43. Rl;L vOj;Jf;fspy; nghUe;jhj xd;iw Njh;e;njL  
a)m    b),    c)c    d)v  
 
44. mUfpy; cs;stw;wpw;Fk; njhiytpy; cs;stw;wpw;Fk; ,ilapy; ,Ug;gij 
Rl;bf;fhl;Lk; Rl;nlOj;J  
a)m    b),    c)c    d)v  
 
45. Rl;Lj;jphpGf;F v.fh fhz;f?  
a)me;jg;gf;fk;  b),g;gs;sp   c),k;kiy   d)mJ  
 
46. Demand draft vd;w nrhy;ypw;F epfuhd jkpo; thh;j;ijia Njh;e;njL?  
a)fhNrhiy   b)tiuNthiy  c)gzj;jhs;   d)fld; ml;il  
 
47. $w;wpid Muha;f  
1. ‘l;’ vd;Dk; vOj;Jf;F Kd; ‘z;’ tUk;  
2. ‘w’ vd;Dk; vOj;Jf;F gpd; ‘d;’ tUk;  
3. ‘d’ ehtpd; Edp Nky;tha; md;dj;jpd; Kd; gFjpia njhLtjhy; dfuk; gpwf;fpwJ  
a)$w;W 1> 2> 3 rhp b)$w;W 1> 2 rhp  c)$w;W 2> 3 rhp  d)$w;W 1> 3 rhp  
 
48. ehtpd; ,Ugf;fq;fs; jbj;J Nky; gw;fspd; mbiaj; njhLtjhy; Njhd;WtJ  
a)o    b)s    c)y    d)z 
 
49. fhkuhrhpd; rpwg;Gg;ngah;fspy; nghUe;jhjij Njh;e;njL  
a)fWg;Gf;fhe;jp  b)Viog;gq;fhsh;  c)fh;ktPuh;   d)midj;Jk; rhp  
 
50. tzpfk;> rl;lk; Nghd;witfspd; Gj;jfq;fs; mz;zh E}w;whz;L E}yfj;jpy; ve;j 
jsj;jpy; cs;sJ  
a)%d;whk; jsk;  b)ehd;fhk; jsk;  c)Ie;jhk; jsk;   d)Mwhk; jsk;  
 
51. The President is elected by an electoral college and it consists of---------------------- 
a)Elected members of both houses of Parliament  
b)Elected members of the states. 
c)Elected members of Delhi and Puducherry.  
d)All of the above 
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FbauRj; jiytu; xU Nju;jy; fy;Y}upahy; Nju;e;njLf;fg;gLfpwhu;> mjpy; ------------------------ 
a)ehlhSkd;wj;jpd; ,U mitfspYk; Nju;e;njLf;fg;gl;l cWg;gpdu;fs; 
b)khepyq;fspd; Nju;e;njLf;fg;gl;l cWg;gpdu;fs;. 
c)nly;yp kw;Wk; GJr;Nrupapd; Nju;e;njLf;fg;gl;l cWg;gpdu;fs;. 
d)NkNy cs;s midj;Jk; 
 
52. Choose the correct Statement: 
Statement 1: President has to take an oath of office before the Judge of the supreme court. 
Statement 2: The President has been empowered by the Constitution to proclaim National 
Emergency under Article 352. 
a)Statement 1 correct,2 incorrect   b)Statement 1 incorrect,2 correct 
c)Both Statement correct     d)Both Statement incorrect 
 
rupahd mwpf;ifiaj; Nju;e;njLf;fTk;: 
mwpf;if 1: FbauRj; jiytuhfj; Nju;e;njLf;fg;gl;l xUtUf;F cr;rePjpkd;w ePjpgjp 
gjtpNaw;G cWjpnkhop nra;J itf;fpwhu;. 
mwpf;if 2: neUf;fb epiyia mwptpf;Fk; mjpfhuk; 352tJ gpuptpd; fPo; Njrpa 
mtruepiyia gpufldg;gLj;Jtjw;F murpayikg;gpd; %yk; FbauRj; jiytUf;F 
mjpfhuk; toq;fg;gl;Ls;sJ 
a)1 rup       b)2 rup 
c),uz;Lk; rup      d),uz;L mwpf;iffSk; jtwhdit 
 
53. President can resign from his office at any time by addressing the resignation letter to the ---
--------------- 
a)Vice-President.  b)Prime Minister  c)Chief Justice of India     d)Governor 
 
ahhplk; gjtp tpyfy; fbjj;ij nfhLg;gjd; %yk; FbauRj;jiytu; ve;j Neuj;jpYk; 
jdJ nghWg;gpypUe;J tpyf KbAk;. 
a)FbauRj; Jizj;jiytu;    b)gpujku;  
c),e;jpa jiyik ePjpgjp     d)MSeu;   
 
54. Which article of the Constitution lays down a detailed procedure for the impeachment of 
the President? 
a)Article 57                      b)article 58   c)Article 59                             d)Article 61 
 
FbauRj;jiytu; kPJ Fw;wk; rhl;b fz;ldj; jPu;khdk; epiwNtw;Wtjw;F xU tpupthd 
eilKiwfis je;Js;s rl;lg;gpupT vJ? 
a)rl;lg;gpupT 57  b)rl;lg;gpupT 58  c)rl;lg;gpupT 59  d)rl;lg;gpupT 61 
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55. For the impeachment of the President, first, a charge for impeachment has to be made in----
----------- 
a)Rajya Sabha      b)Lok Sabha 
c)Either House of the Parliament   d)Parliament and State legislatures 
 
FbauR jiytiu gjtp ePf;fk; nra;tjw;F> Kjypy;> gjtp ePf;fk; nra;ag;ggLtjw;fhd 
jPu;khdk; ----------------epiwNtw;wg;gl Ntz;Lk; 
a)khepyq;fsit       
b)kf;fsit 
c)ghuhSkd;wj;jpd; VNjDk; xU mit  
d)ghuhSkd;wk; kw;Wk; khepy rl;lkd;wq;fs; 
 
56. Choose the correct answer: 
1) The President summons Parliament at least thrice in a year. 
2) President address the parliament after the general electionand also at the beginning of the 
first session each year. 
a)1 correct       b)2 correct 
c)1 and 2 correct      d)None of these 
 
rupahd gjpiyj; Nju;e;njLf;fTk;: 
1) FbauRj; jiytu; Mz;Lf;F %d;W Kiw ehlhSkd;wj;ijf; $l;Lfpwhu;. 
2) nghJj; Nju;jYf;Fg; gpd;du; kw;Wk; NkYk; xt;nthU Mz;bd; ehlhSkd;wj;jpd; Kjy; 
$l;lk; ,tUila ciuAld; Jtq;FfpwJ. 
a)1 rup       b)2 rup 
c)1 kw;Wk; 2 rup      d),it vJTk; ,y;iy 
 
57. Choose the correct Statement: 
Statement 1: Money bills can be introduced in the Parliament without President approval. 
Statement 2: President terminates the sessions of both or any of the Houses of Parliament. 
a)Statement 1 correct,2 incorrect   b)Statement 1 incorrect,2 correct 
c)Both Statement correct     d)Both Statement incorrect 
 
rupahd mwpf;ifiaj; Nju;e;njLf;fTk;: 
mwpf;if 1: epjp kNrhjhitf; FbauRj; jiytupd; xg;Gjy; ,d;wp ehlhSkd;wj;jpy; 
mwpKfk; nra;a KbAk;.  
mwpf;if 2: ehlhSkd;wj;jpd; ,U mitfisNah my;yJ VNjDk; xU mitapd; 
$l;lj;ijNah FbauRj;jiytu; KbTf;Ff; nfhz;Ltuyhk;. 
a)mwpf;if 1 rup> 2 jtwhdJ   b)mwpf;if 1 jtwhdJ> 2 rupahdJ 
c),uz;L mwpf;iffSk; rup    d),uz;L mwpf;iffSk; jtwhdit 
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58. Choose the incorrect pair: 
1) President - cannot dissolve the Lok Sabha before the expiry of the term of the House. 
2) President - nominates 12 persons who are eminent in literature, science, sports, art and social 
service to the Rajya Sabha. 
a)1st pair incorrect      b)2nd pair incorrect 
c)Both pairs incorrect     d)None of these 
 
jtwhd N[hbiaj; Nju;e;njLf;fTk;: 
1) FbauRj; jiytu; - kf;fsitapd; Ie;J Mz;Lfhyk; KbAk; Kd;dNu mjidf; 
fiyf;Fk; mjpfhuKk; ,tUf;F ,y;iy. 
2) FbauRj; jiytu; - fiy> ,yf;fpak;> mwptpay;> tpisahl;L> kw;Wk; r%fg; gzp 
Mfpa Jiwfspy; rpwe;J tpsq;Fk; 12 egu;fisf; khepyq;fsitf;F epakpf;fpwhu;. 
a)1tJ N[hb jtwhdJ     b)2tJ N[hb jtwhdJ 
c),U N[hbfSk; jtwhdit    d),it vJTk; ,y;iy 
 
59. ASSERTION: The Constitution of India places the Contingency Fund of India is at the disposal 
of the President. 
REASON: No demand for a grant can be made except on his recommendation. 
a)Both A and R are correct and R is the correct explanation of A. 
b)Both A and R are correct but R is not the correct explanation of A. 
c)A is correct but R is not correct. 
d)A is not correct but R is correct. 
 
$w;W: ,e;jpahtpd; mtru epjp FbauRj; jiytupd; trk; ,Ug;gjhf ,e;jpa 
murpayikg;Gr; rl;lk; Fwpg;gpLfpwJ. 
fhuzk;: ,e;jpa murpayikg;Gr; rl;lk; ,e;jpa mtrufhy epjpapidf; FbauRj; 
jiytuplk; mspj;Js;sJ. 
a)A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A ,d; rupahd tpsf;fk;. 
b)A kw;Wk; R ,uz;Lk; rupahdit Mdhy; R vd;gJ A ,d; rupahd tpsf;fk; my;y. 
c)A rup Mdhy; R rupapy;iy.  
d)A rupapy;iy Mdhy; R rupjhd;. 
 
60. Choose the incorrect functions of the Vice President: 
a)He regulates the proceeding of theRajya Sabha. 
b)He decides the order of theRajya sabha. 
c)He decides the admissibility of a resolution or questions. 
d)He cannot suspends or adjourns the Rajya Sabha in case of a grave disorder. 
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Jizj; jiytupd; jtwhd nray;ghLfisj; Nju;T nra;aTk;: 
a)khepyq;fsitapd; eltbf;iffis Kiwg;gLj;Jfpwhu;. 
b)khepyq;fsitapd; kuG xOq;F Kiwfisj; jPu;khdpf;fpwhu;. 
c)khepyq;fsitapd; jPu;khdk; my;yJ Nfs;tpfis mDkjpg;gij KbT nra;fpwhu;. 
d)mitapd; eltbf;iffis mtu; xj;jpitf;fTk; my;yJ KbTf;Ff; nfhz;L tu 
KbahJ. 
 
61. Choose the correct answer about Article 100: 
1) vice-president can cast his vote when there is a tie over the Bill in the Rajya Sabha. 
2) No members have any right to oppose his decision. 
a)1 correct   b)2 correct   c)Both correct  d)None of these 
 
rl;lg;gpupT 100 gw;wpa rupahd gjpiyj; Nju;e;njLf;fTk;: 
1) khepyq;fsitapy; rl;l kNrhjhtpd; kPJ eilngw;w thf;nfLg;G rkepiyapy; ,Uf;Fk; 
gl;rj;jpy; Jizf; FbauRj; jiytu; thf;F mspf;fyhk;. 
2) mtUila KbTf;F vjpu;g;G njuptpf;f vtUf;Fk; cupik ,y;iy. 
a)1 rup   b)2 rup   c),uz;Lk; rup  d)vJTk; ,y;iy 
 
62. Who appoints the leader of the majority party or the coalition of the parties that commands 
a majority in the Lok Sabha, as the Prime Minister? 
a)President   b)Chief Justice of India c)Governor   d)None of these 

 
kf;fsitapy; ngUk;ghd;ikAs;s fl;rp my;yJ fl;rpfspd; $l;lzpapd; jiytiuNa 
gpujkuhf ahH epakdk; nra;tJ? 
a)FbauR jiytu;      b),e;jpa jiyik ePjpgjp 
c)MSeu;       d),it vJTk; ,y;iy 
 
63. Choose the incorrect answer: 
1) The Prime Minister does have a fixed tenure. 
2) Prime Minister continues in power so long as he remains the leader of the majority party or 
coalition. 
a)Both incorrect  b)1 incorrect  c)2 incorrect   d)None of these 
 
jtwhd gjpiyj; Nju;e;njLf;fTk;: 
1) gpujkUf;nfd Fwpg;gpl;l gjtpf;fhyk; vJTk; ,y;iy.  
2) ngUk;ghd;ik nfhz;l fl;rp my;yJ fl;rpfspd; jiytuhf ,Uf;Fk; tiuapy; mtNu 
gpujkuhfj; njhlu;thu;. 
a),uz;Lk; jtwhdJ b)1 jtwhdJ  c)2 jtwhdJ   d),it vJTk; ,y;iy 
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64. Who is the chairman of Inter-State Council? 
a)Union Minister  b)President   c)Prime Minister  d)Chief Minister 

 
khepyq;fSf;F ,ilNaahd FOtpd; jiytu; ahu;? 
a)kj;jpa mikr;ru; b)FbauR jiytu; c)gpujku;   d)Kjy;tu; 
 
65. STATEMENT 1: The Prime Minister`s Office has the status of a department of the 
Government of India. 
STATEMENT 2: The Prime Minister’s Office came into existence in 1948. 
a)Statement 1 correct,2 incorrect   b)Statement 1 incorrect,2 correct 
c)Both Statement correct     d)Both Statement incorrect 
 
mwpf;if 1: ,e;jpa murpd; cr;rfl;l KbTfis tbtikf;Fk; epiyapYs;s gpujku; 
mYtyfk; murikg;ghy; Fwpg;gplg;glhj Xu; mjpfhu ikakhfj; jpfo;fpwJ. 
mwpf;if 2: ,e;j mYtyfk; 1948-,y; cUthf;fg;gl;lJ. 
a)mwpf;if 1 rup> 2 jtwhdJ   b)mwpf;if 1 jtwhdJ> 2 rupahdJ 
c),uz;L mwpf;iffSk; rup    d),uz;L mwpf;iffSk; jtwhdit 
   
66. Choose the functions of Prime Minister Office : 
1) Acts as the ‘think- tank’ of the Prime Minister. 
2) Helps the prime minister in his responsibilities as chairman of the Niti Aayog and the 
National Development Council. 
a)Both correct  b)1 correct   c)2 correct  d)None of these 
 
gpujku; mYtyfj;jpd; nray;ghLfisj; Nju;T nra;aTk;: 
1) gpujkupd; rpe;jid Cw;whfr; nray;gLfpd;wJ. 
2) epjp MNahf; kw;Wk; Njrpa tsu;r;rp FO Nghd;wtw;wpw;F Njitahd cjtpfisr; 
nra;tJ. 
a),uz;Lk; rup  b)1 rup   c)2 rup   d),it vJTk; ,y;iy 
 
67. ASSERTION: A Kitchen Cabinet is a still smaller body or a Cabinet within a Cabinet. 
REASON: It helps the Prime Minister in maintaining secrecy in making decisions on important 
political issues. 
a)Both A and R are correct and R is the correct explanation of A. 
b)Both A and R are correct but R is not the correct explanation of A. 
c)A is correct but R is not correct. 
d)A is not correct but R is correct. 
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$w;W: FLk;g mikr;ruit vd;gJ mikr;ruitf;Fs;NsNa xU rpW FOthfr; nray;gLk; 
mikr;ru;fspd; FO. 
fhuzk;: Kf;fpakhd murpay; gpur;ridfspy; KbTfs; vLg;gjpy; ufrpaj;ijg; ghJfhf;fg; 
gpujkUf;F ,e;j mikr;ruitf; FO Kiw cjtpaha; cs;sJ. 
a)A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A ,d; rupahd tpsf;fk;. 
b)A kw;Wk; R ,uz;Lk; rupahdit Mdhy; R vd;gJ A ,d; rupahd tpsf;fk; my;y. 
c)A rup Mdhy; R rupapy;iy. 
d)A rupapy;iy Mdhy; R rupjhd;. 
 
68. Which is the highest decision making and policy formulating authority in our politico-
administrative system? 
a)Cabinet   b)President   c)Governor   d)Prime Minister 

 
cau;e;jgl;r KbTfis vLg;gjw;fhd kw;Wk; nfhs;iffis tFg;gjw;fhd mjpfhuk; 
ngw;w mikg;G vJ? 
a)mikr;ruit  b)FbauR jiytu; c)MSeu;   d)gpujku; 
 
69. Choose the incorrect answer 
a)Attorney General is appointed by the President on the advice of the government. 
b)There is a fixed term for the Attorney General of India.  
c)He can be removed by the President at any time 
d)He can quit by submitting his resignation only to the President 
 
jtwhd gjpiyj; Nju;e;njLf;fTk; 
a)jiyik tof;fwpQu; murhq;fj;jpd; MNyhridapd; Ngupy; FbauRj; jiytuhy; 
epakpf;fg;gLfpwhu;. 
b),e;jpa jiyik tof;fwpQu; xU Fwpg;gpl;l fhy mtfhrk; cs;sJ. 
c)mtu; ve;j Neuj;jpYk; FbauRj; jiytuhy; ePf;fg;glyhk; 
d)mtu; jdJ uh[pdhkh fbjj;ij FbauRj; jiytuplk; kl;LNk rku;g;gpg;gjd; %yk; 
uh[pdhkh nra;a KbAk;. 
 
70. How many members of Rajya Sabha retire every two years, and new members are elected 
to fill the seats thus vacated? 
a)2/3 rd   b)2/6th   c)1/3rd   d)1/10th 

 
khepyq;fsitapy; vj;jid cWg;gpdu;fs; xt;nthU ,uz;L Mz;LfSf;Fg; gpwF Xa;T 
ngWfpd;wdu;? 
a)2/3 rd   b)2/6th   c)1/3rd   d)1/10th 
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71. 1) The Speaker of Lok Sabha is the administrative head of the parliamentary secretariat. 
2) The Speaker doesn’t has the power to expel the members if they flout or violate the norms 
and rules of the house. 
a)Both correct  b)1 correct   c)2 correct   d)None of these 
 
1) ehlhSkd;w jiyikr; nrayfj;jpd; epu;thfj; jiytu; kf;fsit rghehafu; Mthu;. 
2) mitapd; tpjpfis cjhrPdg;gLj;Jk; my;yJ kPWk; cWg;gpdu;fis mitapypUe;J 
ntspNaw;Wk; mjpfhuk; rghehafUf;F ,y;iy. 
a),uz;Lk; rup  b)1 rup   c)2 rup   d),it vJTk; ,y;iy 
 
72. Choose the correct answer: 
1) The Speaker is the final authority to decide on the question of point of order. 
2) Under the constitution, the Speaker enjoys special provisions and certifies money bills. 
a)1 correct   b)2 correct   c)Both correct  d)None of these 

 
rupahd gjpiyj; Nju;e;njLf;fTk;: 
1) mit xOq;Fg; gpur;rpid Fwpj;j Nfs;tpf;F rghehafNu ,Wjp 
KbntLg;ghu;. 
2) murikg;gpd;gb rghehafu; rpwg;G me;j];ij ngw;Ws;shu;. mjd; %yk; epjp Kd;tiuT 
vd;W rhd;wspf;Fk; mjpfhuk; ngw;wtu;. 
a)1 rup   b)2 rup   c),uz;Lk; rup  d),it vJTk; ,y;iy 
 
73. The Rajya Sabha is an institution to protect the rights and interests of the states like the 
senate in USA. It was constituted on ----------------- 
a)3rd April, 1952  b)4th April, 1957  c)7th  April, 1958  d)9th April 1959 
 
mnkupf;fhtpYs;s Ml;rpkd;wf; FOitg;Nghy khepyq;fspd; cupikfs; kw;Wk; 
eyd;fisg; ghJfhf;Fk; xU mikg;G khepyq;fsit MFk;. ,J -------------
cUthf;fg;gl;lJ. 
a)3rd April, 1952.  b)4th April, 1957  c)7th  April, 1958  d)9th April 1959 

 

74. Choose the equal status of rajya Sabha and Lok Sabha: 
a)Introduction and passage of ordinary bills.   
b)Election and impeachment of the President. 
c)Approval of ordinances issued by the President. 
d)All of these 
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khepyq;fsit>kf;fsitapd; rk mjpfhuj;ij Nju;T nra;aTk;: 
a)rhjhuz kNrhjhf;fis mwpKfg;gLj;Jjy; kw;Wk; epiwNtw;Wjy;. 
b)FbauRj;jiytu; Nju;jy; kw;Wk; gjtp ePf;fk;. 
c)FbauRj;jiytupd;mtru rl;lq;fSf;F xg;Gjy; mspj;jy;. 
d),it midj;Jk; 
 
75. The Second Reading of the bill usually takes place after an interval of ------------- days after 
the first reading. 
a)4    b)3    c)2    d)1 
 
Kd; tiutpd; Kjy; thrpg;G eilngw;w ------------------ehs; fhy ,ilNtisf;F gpwF 
,uz;lhtJ thrpg;G eilngWk;. 
a)4    b)3    c)2    d)1 
 
76. Choose the correct pair: 
1) Ordinary Bill - It can be introduced either by a minister or by a private member. 
2) Money Bill - It can be introduced only by a minister. 
a)Both pair correct  b)1st pair correct  c)2nd pair correct  d)None of these 
 
rupahd N[hbiaj; Nju;e;njLf;fTk;: 
1) rhjhuz rl;l Kd;tiuT - ,J mikr;ru; my;yJ ve;j xU cWg;gpduhYk; 
mwpKfg;gLj;jg;glyhk;. 
2) epjp rl;l Kd;tiuT - mikr;ru; kl;LNk ,k;Kd;tiuit mwpKfg;gLj;j KbAk;. 
a),uz;L N[hbAk; rup     b)1tJ N[hb rup 
c)2tJ N[hb rup      d),it vJTk; ,y;iy 
 
77. Choose the correct pair: 
a)Union list - Post and Telegraph   b)State List - Trade and Commerce 
c)Concurrent List - Trade Unions   d)All of the above 
 
rupahd N[hbiaj; Nju;e;njLf;fTk;: 
a)kj;jpa gl;bay; - mQ;ry; kw;Wk; je;jp   
b)khepy gl;bay; - tu;j;jfk; kw;Wk; tzpfk; 
c)nghJg; gl;bay; - njhopw;rq;fq;fs; 
d)NkNy cs;s midj;Jk; 
 
78. Which article says that, “The Governor is a part of the State Legislature”? 
a)Article 168  b)Article 169  c)Article 170   d)Article 171 
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MSeu; khepyr; rl;lkd;wj;jpd; xUgFjp vd;W $Wk; rl;lg;gpupT vJ? 
a)gpupT 168   b)gpupT 169   c)gpupT 170   d)gpupT 171 
 
79. Choose the incorrect pair: 
1) The Governor appoints the leader of the majority party in the legislative assembly as the 
Chief Minister. 
2) He appoints the other ministers of the Council of Ministers according to the advice of the 
President. 
a)1 incorrect  b)2 incorrect  c)Both incorrect  d)None of these 
 
jtwhd N[hbiaj; Nju;e;njLf;fTk;: 
1) rl;lkd;wj;jpy; ngUk;ghd;ik fl;rpapd; jiytiu Kjyikr;ruhf MSeu; epakpf;fpwhu;. 
2) FbauR jiytupd; MNyhridapd;gb> gpw mikr;ru;fis mtu; epakpf;fpwhu;. 
a)1 jtwhdJ  b)2 jtwhdJ  c),uz;Lk; jtwhdJ d)vJTk; ,y;iy 
 
80. Choose the correct statement: 
Statement 1: The Chief Minister can introduce the bills in the Legislative Assembly. 
Statement 2: He can recommend for the dissolution of the Legislative Assembly to the Governor 
anytime. 
a)Statement 1 correct, 2incorrect   b)Statement 1 incorrect, 2 correct 
c)Both Statement correct     d)Both Statement incorrect 
 
rupahd mwpf;ifiaj; Nju;T nra;aTk;: 
mwpf;if 1: Kjyikr;ru; rl;lkd;wj;jpy; kNrhjhf;fis mwpKfg;gLj;Jfpwhu;. 
mwpf;if 2: ve;Neuj;jpYk; rl;lkd;wj;ijf; fiyf;f MSeUf;Fg; gupe;Jiu nra;fpwhu; 
a)mwpf;if 1 rup> 2 jtwhdJ   b)mwpf;if 1 jtwhdJ> 2 rupahdJ 
c),uz;L mwpf;iffSk; rup    d),uz;L mwpf;iffSk; jtwhdit 
 
81. Which article states that the total number of Ministers in a State shall not exceed fifteen 
percent of the total number of members of the Legislative Assembly? 
a)Article 164(1A)  b)Article 164(1B)  c)Article 164(1C)  d)Article 164(1D) 
 
xU khepyj;jpy; cs;s nkhj;j mikr;ru;fspd; vz;zpf;if> rl;lkd;w cWg;gpdu;fspd; 
nkhj;j vz;zpf;ifapy; gjpide;J rjtPjj;jpw;F kpfhky; ,Uf;f Ntz;Lk; vd;W ve;jg; 
gpupT $WfpwJ? 
a)gpupT 164 (1A)  b)gpupT 164 (1B)  c)gpupT 164 (1C)  d)gpupT 164 (1D) 
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82. Choose the correct answer about election to the Legislative Council: 
a)1/6th of the members are elected by local bodies. 
b)1/12th is nominated by the Governor who is eminent in the field of literary excellence, art, 
social Service etc 
c)Both a and b 
d)None of these 
 
rl;l Nkyitf;fhd Nju;jy; gw;wpa rupahd gjpiyj; Nju;e;njLf;fTk;: 
a)1/6th cWg;gpdu;fs; cs;shl;rp mikg;Gfshy; Nju;e;njLf;fg;gLfpd;wdu;. 
b)1/12th cWg;gpdu;fs; fiy> ,yf;fpak;> mwptpay;> r%f Nrit ,tw;wpy; rpwe;J 
tpsq;Fgtu;fis MSeu; Neubahf epakdk; nra;fpwhu;. 
c)a kw;Wk; b ,uz;Lk; 
d),it vJTk; ,y;iy 
 
83. Which article deals with the creation or abolition of Legislative Council in a State? 
a)Article 167  b)Article 168  c)Article 169  d)Article 170 
 
xU khepyj;jpy; rl;l Nkyitia cUthf;FtJ my;yJ ePf;FtJ gw;wp ve;jf; gpupT 
$WfpwJ? 
a)gpupT 167   b)gpupT 168   c)gpupT 169   d)gpupT 170 
 
84. Who has the power to provide law for the abolition and creation of the Legislative Coucil? 
a)The Prime minister     b)The Governor 
c)The State Legislative Assembly   d)The Parliament 
 
rl;l Nkyitia xopg;gjw;Fk; cUthf;Ftjw;Fk; rl;lj;ij toq;Fk; mjpfhuk; ahUf;F 
cs;sJ? 
a)gpujku;   b)MSeu;   c)khepy rl;lg; Nguit  d)ghuhSkd;wk; 
 
85. Who is known as the ‘Father of Local Government for laying the foundations of local self 
governments in modern times? 
a)Lord Ripon  b)Lord William Bentick c)Lord Dalhousie  d)Lord Mayo 
 
etPd fhyj;jpy; cs;shl;rp mikg;GfSf;F mbj;jskpl;ljw;fhf 'cs;shl;rpapd; je;ij” 
vd;W miof;fg;gLgtu; ahu;? 
a)upg;gd; gpuG      b)tpy;ypak; ngd;bf; gpuG  
c)ly;n`srp gpuG       d)yhu;l; NkNah 
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86. Choose the correct pair: 
1) Community Development Programme - 1952 
2) National Extension Service - 1953 
a)Both pair correct  b)1st pair correct  c)2nd pair correct  d)None of these 
 
rupahd N[hbiaj; Nju;e;njLf;fTk;: 
1) r%f mgptpUj;jp jpl;lk; - 1952 
2) Njrpa ePl;bg;G Nrit - 1953 
a),uz;L N[hbAk; rup     b)1tJ N[hb rup 
c)2tJ N[hb rup      d),it vJTk; ,y;iy 
 
87. As per 2011 Census how many villages in India? 
a)2,50,000   b)3,50,000   c)4,50,000   d)6,40,930  
 
2011 kf;fs; njhif fzf;nfLg;gpd;gb ,e;jpahtpy; vj;jid fpuhkq;fs; cs;sd? 
a)2,50,000    b)3,50,000    c)4,50,000    d)6,40,930 
 
88. Which committee introduced Three-tier Panchayati Raj system – grama 
Panchayat,panchayat Samiti and Zila Parishad? 
a)G.V.K. Rao Committee     b)Balwant Rai Mehta Committee 
c)L.M. Singhvi Committee    d)Ashok Mehta Committee 
 
fpuhk gQ;rhaj;J> gQ;rhaj;J rkpjp kw;Wk; [pyh gup\j; Mfpa %d;wLf;F gQ;rhaj;J 
uh[; Kiwia mwpKfg;gLj;jpa FO vJ? 
a)[p.tp.Nf.uht; FO     b)gy;te;j; uha; Nkj;jh FO 
c)vy;.vk;.rpq;tp FO     d)mNrhf; Nkj;jh FO 
 
89. Which year Tamilnadu Local Government Act was Passed? 
a)1994   b)1995   c)1996   d)1997 
 
jkpo;ehL gQ;rhaj;J uh[; rl;lk; ve;j Mz;L epiwNtw;wg;gl;lJ? 
a)1994   b)1995   c)1996   d)1997 
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90. Choose the corret answer: 
1)The Supreme Court of India under the present Constitution commenced functioning on 
January 28, 1950. 
2) It was placed then in the Chamber of Princes in the Parliament then it moved to the 
present building in 1958. 
a)Both correct  b)1 correct   c)2 correct   d)None of these 
 
rupahd gjpiyj; Nju;e;njLf;fTk;: 
1) jw;NghJs;s murikg;gpd; fPo; ,e;jpa cr;r ePjpkd;wk; [dtup 28> 1950-Mk; 
Mz;L Kjy; nray;glj; njhlq; fpaJ. 
2) njhlf;fj;jpy; ehlhSkd;wj;jpd; ,sturu;fs; khlj;jpy; nray;gl;lJ. 
1958-Mk; Mz;L jw;NghJ cs;s tshfj;Jf;F khw;wg;gl;lJ. 
a),uz;Lk; rup  b)1 rup   c)2 rup   d),it vJTk; ,y;iy 
 
91. Which articles of Constitution lays down the composition and jurisdiction of the Supreme 
Court of India? 
a)Articles 124 to 147     b)Articles 126 to 143  
c)Articles 125 to 148     d)Articles 124 to 150 

 
murpayikg;gpd; ve;jg; gpupTfs;  ,e;jpa cr;r ePjp kd;wj;jpd; tbtk; kw;Wk; mjpfhu 
tuk;Gfs; Fwpj;J $Wfpd;wd.? 
a)gpupT 124 Kjy; 147 tiu    b)gpupT 126 Kjy; 143 tiu 
c)gpupT 125 Kjy; 148 tiu    d)gpupT 124 Kjy; 150 tiu 
 
92. Which article says that,” the advice of the Supreme Court is not binding on the President “? 
a)Article 144  b)Article 143  c)Article 145   d)Article 146 
 
“cr;r ePjpkd;wj;jpd; MNyhridfis FbauRj;jiytu; Vw;f Ntz;ba fl;lhak; ,y;iy”  
vd;W $Wk; rl;lg;gpupT? 
a)rl;lg;gpupT144  b)rl;lg;gpupT 143  c)rl;lg;gpupT 145  d)rl;lg;gpupT 146 
 
93. Which of the following is an alternative dispute resolution mechanism in India? 
a)Supreme Court   b)High Court  c)District Courts  d)Lok Adalats 
 
gpd;tUtdtw;wpy; ,e;jpahtpy; xU khw;W jfuhW Kiwik vJ? 
a)cr;r ePjpkd;wk;      b)cau; ePjpkd;wk;  
c)khtl;l mku;T ePjpkd;wk;    d)Nyhf; mjhyj; 
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94. The Chief Justice and other judges of the Supreme Court hold the office up to the age of -----
----- years. 
a)65    b)67    c)68    d)69 
 
cr;r ePjpkd;wj;jpd; jiyik ePjpgjp kw;Wk; gpw ePjpgjpfs; ---------- taJ tiu gjtp 
tfpf;fpd;wdu;. 
a)65    b)67    c)68    d)69 
 
95. Which Articles empowers the High Courts to issue writs? 
a)Article 226   b)Article 227  c)Article 228   d)Article 229 

 
gpd;tUk; cWg;Gfspy; vJ cau; ePjpkd;wj;jpw;F Nguhizfis gpwg;gpf;f mjpfhuk; 
mspf;fpwJ? 
a)cWg;G 226  b)cWg;G 227  c)cWg;G 228  d)cWg;G 229 
 
96. Choose the correct Statement: 
Statement 1: The Chief Justice of Supreme Court in India is appointed by the President of India. 
Statement 2: The other judges are appointed by the President in consultation with the 
collegiums with Chief Justice and Prime minister. 
a)Both Statement correct    b)Statement 1 correct 
c)Statement 2 correct     d)None of these 
 
rupahd mwpf;ifiaj; Nju;e;njLf;fTk;: 
mwpf;if 1: ,e;jpa cr;r ePjpkd;w jiyik ePjpgjpiaf; FbauRj; jiytu; epakpf;fpwhu;.  
mwpf;if 2: kw;w ePjpgjpfisj; gpujk ke;jpup kw;Wk;  jiyik ePjpgjpiaj; 
jiytuhff; nfhz;l %j;j ePjpgjpfs; FOtpd; MNyhridAld; FbauRj; jiytu; 
epakpf;fpwhu;. 
a),uz;L mwpf;iffSk; rup    b)mwpf;if 1 rup 
c)mwpf;if 2 rup      d),it vJTk; ,y;iy 
 
97. The Supreme Court of India has Individual Review with regard to 
a)Dispute between the Centre and the States 
b)Protecting the fundamental rights. 
c)Those laws passed by the legislatures which are not in accordance with the Constitution. 
d)All of the above 
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gpd;tUk; jdpg;gl;l ePjpkd;w kWMa;T mjpfhuq;fis cr;rePjpkd;wk; ngw;Ws;sJ. mit 
a)eLtz; muR> kw;Wk;> khepyq;fSf;fpilapyhd gpur;ridfs;. 
b)mbg;gil cupikfisg; ghJfhj;jy;. 
c)khepy rl;lkd;wq;fs; ,aw;Wk; rl;lq;fs; murpayikg;Gr; rl;lj;jpw;F KuzhdJ vd 
mwptpf;Fk; mjpfhuk; 
d)NkNy cs;s midj;Jk; 
 
98. Which year Madras High Court  was established? 
a)26 June 1862  b)24 June 1863  c)26 June 1864  d) 24 June 1865 
 
nkl;uh]; cau;ePjpkd;wk; ve;j Mz;L epWtg;gl;lJ? 
a)26 [_d; 1862  b)24 [_d; 1863  c)26 [_d; 1864  d)24 [_d; 1865 
 
99. Choose the incorrect pair: 
1) Habeas Corpus -Safeguards people from illegal arrests. 
2) Mandamus - It prohibits a subordinate court from acting beyond its jurisdiction. 
a)1st pair incorrect  b)2nd pair incorrect  c)Both pair incorrect d)None of these 

 
jtwhd N[hbiaj; Nju;e;njLf;fTk;: 
1) Ml;nfhzu;T ePjpg;Nguhiz - rl;lj;jpw;F Gwk;ghf xUtu; ifJ 
nra;ag;gLtjpypUe;J ,J ghJfhf;fpwJ. 
2) fl;lisAWj;Jk; ePjpg;Nguhiz - xU fPo;ePjpkd;wk; jdJ> rl;l vy;iyiaj; 
jhz;b nray;gLtijj; jLf;fpwJ. 
a)1tJ N[hb jtwhdJ     b)2tJ N[hb jtwhdJ 
c),uz;L N[hbAk; jtwhdJ    d),it vJTk; ,y;iy 
 
100. Choose the incorrect qualification for the election as President: 
a)He should be a citizen of India. 
b)He must have completed the age of thirty years. 
c)He must not hold any office of profit under the Union, State or local Government. 
d)All of the above 
 
FbauRj; jiytu; Nju;jYf;fhd jtwhd jFjpia Nju;T nra;aTk;: 
a),e;jpaf; Fbkfdhf ,Uj;jy; Ntz;Lk;. 
b)30 taJ G+u;j;jp mile;jtuhf ,Uj;jy; Ntz;Lk;. 
c)eLtz; murpNyh> khepy murpNyh my;yJ cs;shl;rp mikg;GfspNyh Cjpak; ngWk; 
gjtpapy; ,Uj;jy; $lhJ. 
d)NkNy cs;s midj;Jk; 


